

Government Tender Notice

Invitation of Tender Notice Nos.119,121,122,123,124/Seri/Eng/Civil/PCR/BNK/2019-'20.

Sealed Tenders are invited by the Executive Engineer, Sericulture, West Bengal, 45, Ganesh Chandra Avenue, (2nd floor), Kolkata-13 for the following works in the district of Bankura from the bonafide experienced and resourceful contractors having experienced in such type of works in pure Govt. Department / Zilla Parishad.

NIT	Name of the Work	Estimated Cost	Earnest Money	Place of Work.	Time of completion of work.	
119	Repairing of A.C sheet roof of Rearing house (Used by CSB) at Taldangra Tasar Farm, Bankura, under PCR.	Rs.4,71,135.00 (Rupees Four lakh Seventy one thousand one hundred Thirty five) only.	Rs. 11,780.00 (Rupees Eleven thousand Seven hundred Eighty) only.	Taldangra Bankura	1 (One) month from the date of issue of Work Order.	
121	Construction of boundary wall (Front portion and Calvert,drainage system at Khatra Cocoon market, Khatra, Bankura under PCR.	Rs. 2,61,169.00 (Rupees Two lakh Sixty one thousand one Hundred Sixty nine) only.	Rs. 6530.00 (Rupees Six thousand Five hundred Thirty)Only	Khatra Cocoon market, Khatra, Bankura	-do-	
122	Replacement of 5 Hp Submarsible pump & Motor with change of PVC pipe line for drinking water for Office and staff Qtrs at Bishnupur Sericulture Complex, Bankura under P.C.R.	Rs. 2,29,046.00 (Rupees Two lakh Twenty nine thousand Forty six)only	Rs. 5730.00 (Rupees Five thousand Seven hundred Thirty) Only.	Bishnupur Sericulture Complex, Bankura	-do-	
123	Addition and alteration of Grainage building for set up of Walk In Cold room at Bishnupur Sericulture Complex, Bankura under P.C.R.	Rs. 72,898.00 (Rupees Seventy two thousand Eight hundred Ninety eight) only.	Rs.1825.00 (Rupees One thousand Eight hundred twenty five)only.	Bishnupur Sericulture Complex, Bankura	-do-	
124	Antitermite treatment for office building and Gr.'D' Qtrs (4in 1) Office campus of Deputy Director of Sericulture, Bankura under P.C.R.	Rs. 90,372.00 (Rupees Ninety thousand Three hundred Seventy two)only.	Rs. 2260.00 (Rupees Two thousand two hundred Sixty) Only.	Office campus of Deputy Director of Sericulture, Bankura	-do-	

Tender papers (NIT), Priced Schedule & Form-2911(ii) etc. may be obtained/downloaded from seriwbgov.org at free of cost.

Last date & time of submission of Tender	06.02.2020 upto 3-00 P.M. at Head Quarters, Kolkata.
Date & time of opening of Tender	06.02.2020 upto 3-30 P.M. at Head Quarters, Kolkata.

Tender should be submitted / dropped in the box kept at Head Quarters, Kolkata and papers should be arranged in the following manner.

[19,121,122,123,124]

Envelop - I, should be superscribed as Technical Bid for N.I.T No......SL No. of Work, Name of agency and it should contain (Self Attested) PAN Card. Last I.T. Return, valid GSTIN Registration, P.Tax Challan, Credential (similar nature of work at about 60% of Tender Value) EMD & Pest Control License etc for NIT No.124 and sealed.

Envelop - II, should be super scribed as Financial Bid for N.I.T. No....... SL No. of Work, Name of Agency and should contain filled in - 2911 (ii) quoting the Rate and Sealed.

2(two) envelopes as noted above (I & II) should be put in a bigger envelop and sealed. Agency should write clearly N.I.T. No., Name of Work, SL.No. and Name of the Agency on this Envelope and drop the same as per schedule mentioned in this N.I.T.

Technical Bid will be opened first. Financial Bid will be opened only if the technical Bid is found acceptable.

Labour Cess will be deducted from bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), West Bengal, 45, Ganesh Ch, Avenue (2nd floor), Kolkata-13 on any working days and web site *seriwbgov.org*. The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/cancel all the applications without showing any reasons thereof. If any date as above happens to be holidays the next working days will be considered as stipulated date. Acceptance of lowest tender is not obligatory.

N.S.C./ K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalised Bank will be considered as Earnest money. Acceptance of lowest Tender is not obligatory.

Notwithstanding anytime contained in this Notice Inviting Tender, the other terms & conditions and special terms & conditions will remain binding upon all concerned.

Executive Engineer,
Directorate of Sericulture,
West Bengal.

Memo. No. 816 (3)
/Seri/Eng/Civil/PCR/BNK/6(Vol.-7).

Dated, 23 /12 2019.

Copy forwarded for information & necessary action to :-

- 1. The Deputy Director of Sericulture, Bankura.
- 2. The Notice Board of this Directorate.

3. The Website of this Directorate.

Executive Engineer,
Directorate of Sericulture,
West Bengal.

Priced schedule for the addition and alteration of Grainage building for set up Walk In Cold room at

Bishnupur Sericulture Complex, Bishnupur, Bankura, under PCR.

Sl. No.	Description of work	unit	Quantity	Rate	Amount
1	Taking out shutter of door and window, dismantling by parts (for repair or replacement of damaged parts), reassembling and refitting and rehanging same with old fittings but with new screws as necessary.	Sqm	16.00	126.00	2016.00
2	Brick work with 1st class bricks in cement mortar (1:4). (b) In superstructure, ground floor. $6 \times 1.50 \times 1.60 \times 0.25 = 3.60$ $1 \times 1.40 \times 2.50 \times 0.25 = 0.87$ Ddt. $6 \times 0.60 \times 0.60 \times 0.25 = 0.54$	Cum	4.00	4742.00	18968.00
3	Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) . 6 x $0.90 \times 0.25 \times 0.20 = 0.27$ $1 \times 1.40 \times 0.25 \times 0.20 = 0.07$	Cum	0.50	6014.32	3007.16
4	Hire and labour charges for shuttering with centering and necessary staging upto 4 m using approved stout props and thick hard wood planks of approved thickness with required bracing for concrete slabs, beams $6 \times 0.90 \times 2 \times 0.20 = 2.16$ 1 x $1.40 \times 2 \times 0.20 = 0.56$	Sqm	3.00	321.00	963.00
5	Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binders etc initial straightening andremoval of loose rust $6 \times 4 \times 0.90 \times 0.40 = 8.64 \text{ kg}$ 1 × $4 \times 1.40 \times 0.40 = 2.24$ 6 × 7 × $0.80 \times 0.22 = 7.39$ 1 × 10 × $0.80 \times 0.22 = 1.76$	MT	0.03	68053.00	2041.59
6	M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. 6 x 0.65 x 0.70 x 22 = 60.06 kg	Qntl	0.65	7046.00	4579.90
7	7 M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. For Grill Gate. 1 x 1.90 x 2.35 x 25 = 111.62 kg	Qntl	1.12	8102.90	9075.25
8	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar nosing and drip course where necessary (ground floor) a) With 4:1 cement morter. 15 mm. Thick plaster.	Sqm	50.00	149.00	7450.00
9	Panel shutters of door and window, as per design (each panel consisting of single plank without joint), including fitting and fixing 35 mm thick Sisoo, Gamar etc.	Sqm	2.50	2789.00	6972.50
10	Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. 100mm. X 50mm. X 1.25mm		6.00	43.00	0 258.00

11	Iron socket bolt of approved quality fitted and fixed complete. d) 225mm long x 10mm dia bolt.	Each	6.00	77.00	462.00
12	Taken out and Repairing of Collapsible gate, supplying and fixing of bottom channel and requisite rollers, oiling and fixing complete.	Each	1.00	3500.00	3500.00
13	Priming one coat on steel or other metal surface with synthetic oil bound primer	Sqm	15.00	29.00	435.00
14	Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc.	Sqm	15.00	77.00	1155.00
15	White washing including cleaning and smoothening surface thoroughly.	Sqm	200.00	18.14	3628.00
	Total				64511.40
	Add 12 % as GST		64511.00	0.12	7741.32
	Add. 1% as Labour Welfare Cess		64511.00	0.01	645.11
			Total		72897.83
	Rs. 72,898.00				
	(Rupees Seventy two thousand eight hundred ninety eight) only.				

Executive Engineer
Directorate of Textiles (SerfcultureSovernment of West Bengal